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Calculation Pollcy
EYFS Year | Year 2 Year 3 Year L Year 5 Year 6
Combmmg two Combmmg two Combmlng two | Column Column Column Column
parts to make parts to make parts to make | method - method - method - method -
a whole: part |a whole: part |a whole: part exchanging exchanging exchangtng exchangtng
whole model whole model whole model up to 5 dtgit L‘ncludmg
Using ,olace (qu to 4 digits) numbers and larger
Countmg all to Startmg at the Adding three value 3dlo numbers and
count on blgger single diglts counters/base up to 3dlo
numbers and 10 (u,o to 3
g countmg on - | Use of base 10 dlglts)
% using cubes to combine two
Be) numbers
=S Regrouplng to
make 10 using Using place
tens frame value
counters/base
Usmg base 10 |10 (ulo to 2

dtgits)
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i
Ta/eing away Ta/eing away Cauntlng back | Column Column Column Column
ones ones method with method with method with method with

Find the exchanging exchanging. exchangmg exchangmg
Counting back Counting back |difference for up to 5 L‘ncluding
(up to 3 digits (up to L dtgits) digits and up | different

g Find the Part whole using ,olaco, to 3d,o numbers of

.'.3 difference model value decimal Iolaces

E counters/base

] Part whole Make 10 10)

5’, model

Make 10 using

tens frame

Use of base 10
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2
7
Recagnlsmg Recagnlsmg Recognislng Arrays Column Column Column
and ma/emg and ma/emg and ma/eing multtpltcaticm multl,olicatlan multt‘plicatwn
chual groups chual groups Qq,ual groups 2d x 1d using | - introduced L dtgtt of any
base 70/,olace with place multt‘plied by I | numbers by up
/i’epeated /i’epeated Repeated value counters | value counters |or 2 dtgits to L dtgit
grouping grouping and grouping and numbers
addition addition Use af grid for (2 and 3 dlglt
Doublmg 2dlglt x 1 dlglt multi,olto,d by |
g Doublmg Arrays - dlglt)
= Use cubes, showtng
g . ‘ . .
9O Numicon and | Counting in commutative
§ other abjects multiples representation
:"3 in the
= classroom Arrays
Use cubes,

Numicon and
other objects
in the
classroom
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Division

Sharmg

objects into

9FOUP5

Sharmg

objects into

9FOUP5

Division as
grouping e.g. [
have 12 sweets
and put them
into groups of
3, how many
groups?

Division as
graupmg

Division within
arrays -
ltn/elng to
multllollcation

Ro,lo eated

subtraction

Division with a
remainder -
times table
facts and
re,oeated
subtraction

2d divided bH
Id using base
10 or place
value counters
and number
lines

Division with a
remainder

Short division
(up to 3 digits
by ! dlglt -
concrete and
Iolctorial)

Short division
with place
value counters
(up to b digits
by al dtgits by
| dtgzt
L'ncludmg
remainders)

Short division
Lang division

Children
should
Qxchango, into
the tenths and
hundredths

column too

Children
should
perfarm
division using
factors




Calculation Policy: Addition

Calculation Policy: Guidance
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Ke,y language,: sum, total, Ioarts and wholes, Iolus, add, altagether, more, (s o,cLual to, is the same as.

Concrete

Pictorial

Abstract

Cambining two parts to make a whole (use
other resources too e. g- eggs, shells,
teddy bears, cars)

9066
966

|
Do IPPPE

EYFS, N, Y2

Children to re,oresent the cubes using dots
or crosses. They could put each part on a
part-whale, model too.

EYFS, T, Y2

L+3=7
L is a part, 3isa part and the whole is 7.

EYFS, N, Y2, Y3

Cauntmg on using number lines using
cubes or Numicon.

01234567890

_m

B 5 & B 5 @
EYFS. N, Y2

A bar model which encourages the
children to count on, rather than count

[+ 1L

7

The abstract number line:
What is 2 more than 47

What is the sum of 2 and L7
What is the total of &4 and 27
L+2
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Regrouping to make 10; using ten frames
and counters/cubes or using Numicon

6+5

Children to draw the ten frame and
counters/cubes.

Children to develalo an understandlng of
eguality. For example:

6+0 =1l

o000 o0
@ _o®98® — 6+5:5+|:|
LA AR 8]
6+5=0+4
A, Y2
Y2, Y3 y2. y3
10 +0 using base 10. Continue to de\relolo Children to represent the base 10 e.g. LT + 8
understandmg af Ioartitionmg and place lines for tens and dots/crosses for ones. e
value. 10« Ve N L)
L1 + 8
i i ""’ B
LI- c1 I+8=9
| LO +9 =149
I, Y2, Y3 N,72,73 y3
10 +T0 using base 10 and exchanging. Children to represent the base 10 in a Loo/emg for ways to make 10.
Continue to de\relolo understanding of Iolace value chart.
partitioning and Iolace value. 10s Is 36 + 25= gﬂ *5201{:] 50
E +h =
36 + 25 . ks 50+ 10+ 1= 61
10s 1s 1 5 36
| & +25
m %ﬁa Formal method: 61

Y2,73

1

Y3




14
g

@

Henleaze

Junior School

Use of place value counters to add HTO +
10, HTO + HIO etc. When there are 10
ones in the Is column - we exchange forl
ten, when there are 10 tens in the 10s
column — we o.xchange for 1 hundred.

100s | 10s 1s
Y /0000|000
ooo _[88%9) §§
q-/ 0 |\ o0
~—
6 1 1
Y3

make an o.xchange.

Children to reloresent the counters in a
place value chart, crossing out when they

100s | 10s 1s
00 ©000\ | 000
s00 | 00
000 |\co /| 90
I -
6 ~—
| 00s l

6
e, Y5

243

+368
611

11
i, Y5, Y6

Canceptual variation; different ways to ask children to solve 21 + 34

Word Ioroblems: 21
In Year 3, there are 21 children | 434 @E
and in Year &, there are 34 - M\*
children. How many children — H*ﬁ 7
in total? 21 + 34 = otm + =
za f’if)’? ;655' Prove it. /\/\Lssmg dlqét problems:
(=21 + 34 10s | 1s
00 |©
? Calculate the sum of twenty - 000| ?
21 | 34 one and thirty-four. ) 5
e T 75, %6 Vi V5. 6
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Key language: take away, less than, the d(ff@rence, subtract, minus, fewer, decrease.

Concrete Pictorial Abstract
Phystcally talelng away and removing obje,cts from | Children to draw the concrete resources |L- 3 =
a whole (ten frames, Numicon, cubes and other they are using and cross out the correct
items such as beanbags could be used). amount. The bar model can also be (=4 - 3
. ‘ used. 4 ‘
LS . 3 ?
— . ~ 3

00/ | o BRSO
DFS. Y, Y2 X ©10

N, Y2 N, Y2, Y3, Y

Cauntmg back (using number lines or number
tracks). Children start with 6 and count back 2.

EYFS, N, Y2

Children to represent what they see
Ioictorially e.q.

Children to represent the calculation
on a number line or a number track
and show their jumps. Encourage
children to use an empty number
line.

012345678910

P
TR TR TR TR
4 6

Y2, Y3, Mk
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F inding the difference ( using cubes, Numicon or
Cuisenaire rods, other objects can also be used).

Calculate the difference between 8 and 5.

N, Y2

Children to draw the cubes/other
concrete objects which they have used
or use the bar model to illustrate what
thQH need to calculate.

00000000
0000 Os—

Find the dlff@rence between 8 and
5.

8 -5, the difference is []
Children to explore WhH

9-6=8-5=7-1L4 have the same
dlfference.
Y2

N\a/eing 10 using ten frames.

It -5

0000 -4 -1
00000 Jeooee . eeeee
gpgo 0000 oe[e®
Y2

Children to Ioresent the ten frame

Iolctorlally and discuss what they did to
make 10.

Y2

Children to show how they can make

10 by Ioartltionmg the subtrahend.
14-5-9

/\
4"

b - L =10
10-1=9
Y3
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Column method using base 10. Children to represent the base 10 Column method or children could
L8 -7 pictorlally. count back.
el e colBal 1 4 8
e g .;.-.:F‘ 5 ‘ [ - 7
_ e 7
4 1 4|
Y2, Y3 ) i l Y3
273

Column method using base 10 and haw‘ng to
exchange.

L1 - 26

10s | 1s 10s

Is
. f\E_.\p

Y2, 73

Represent the base 10 pictorially,

remembermg to show the Qxchange.

Formal column method. Children
must understand that when they
have exchanged the 10, they still
have 4 because 4 = 30 +11.
/4
2 6

| 15
Y3
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Column method using Iolace value counters. Re,oresent the Iolace value counters
23L - 88 ptctorially; remembermg to show what
00s| 10s | s 10s | 1s has been exchanged.
°e g B 0008 e fil0s | 1
§359) =
> ol oO0O®@ |ooco
Q000 Pg%
80 |22 )
4 6 LI
Y3 00s] 10s [ s W00s| 10s [ 1s
0 0000 =] 0000
- 0000
8800
100s| 10s | 1s )
° 000
T 4 6
i, Y5

Formal column method. Children
must understand what has happened
when they have crossed dtgits out.

234
. 88

6

e, Y5, Y6

Canceptual variation; different ways to ask children to solve 391 - 186

391

186

M, Y5, Y6

Raj spent £391, Tlmmy spent
£186. How much more did Raj‘
sloo,nd?

Calculate the difference
between 397 and 186.
Yh, Y5, Y6

[1=239%-186

391
-186

What is 186 less than 3917
4, Y5, Y6

/V\L'ssmg digit calculations.
3 9
- 6
5
e, Y5, Y6




14
2Gx
"I‘

Calculation Palicy: Multiplication

®. Henleaze
k 2 Junior School

Ke,y language,: double, times, mult(,olled by, the Ioroduct of, groups of, lots of, egual groups.

EYFS, N, Y2

v, Y2

Concrete Pictorial Abstract
Repeated grouping/repeated addition Children to represent the practical 3xL =12
x b resources in a picture and use a bar
L+L+04 model.
There are 3 equal groups, with & in each 88 % &C)) h+h+l =12
group
N, Y2

Number lines to show repeated groups.

3 x L

Re,oresent this Ioictorially al(mgside a
number line e.q.

Y2

Abstract number line showmg three jumps

of four.

3xh =12
PN N\
e & 4 2

Y3
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Use arrays to illustrate commutativity
counters and other objects can also be
used.

Children to reloresent the arrays

plctartally.
o0

v]eololole)
Be ' 600350

@)
o

N, Y2, Y3

Children to be able to use an array to
write a range of calculations e.q.

10=2x5
5x2=10
2+2+2+2+2=10
10=5+5

N,72,73

Children represent the concrete
maniloulatives pictarlally.

(0s | s

L
A

Children to be encouraged to show the
steps they have taken.

4x15
¥ '\
10 5
10x 4=-40
hx 4:=-20
40+ 20 =60
A number line can also be used.

0‘5“‘ -

e

Y3
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Formal column method with Iolaco, value
counters (base 10 can also be used).

3 x 23
10s 1s
00 | 000
00 | 000
00 | 000
6 9
Y,

Children to record what it is they are
doing to show understandmg.

3x/2§ 3x20=60

3x3=9
20 3 60 + 9 =69
23
x 3
69
59

Formal column method with Iolaco, value
counters.

6 x 23
100s | 10s

000000
000000 | =
000000|¥

:
3
@

00000

0
Q%OOOOO
000000

Formal written method.

6bx23=

23
X 6
138

11
e, Y5, Y6
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1 2 4
X 2 6
7 4 4
1z
4 8 0
2 2 4
1 1

Answer: 3224

Y5, Y6

Conce,ptual variation; different ways to ask children to solve 6 x 23

23

23

23

23

23

23

Y5, 6

Mai had to swim 23 lengths, 6
times a week.
How many lengths did she

swim in one week?

e, Y5, Y6

Find the product of 6 and 23.

6 x 23 =
[1 =6x23
6 23
X 23 x B

i, Y5, Y6
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Calculation Palicy: Division

Ke,y language,: share, group, divide, divided by, half.
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Concrete

Pictorial

Abstract

Sharlng using a range of objects.
+ 7

EYFS, N, Y2, 73

Re,oresent the sharlng ,olctorlally.

N,72,73

6+ 2=3

3 3

Children should also be anauraged to use
their 2 times tables facts.

Y2, Y3

Repeated subtraction using Cuisenaire rods
above a ruler.

6+ 2

3 groups of 2
Y2

Children to reloresent repeated
subtraction pictorally.

-2 - 2
lg ig;io '
O o?_ 4 06

Abstract number lune to represent the
eq,ual groups that have been subtracted.

-2 -2 -2
o 2 2 4 5 6
3 groups

Y2
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13 + 4 = 3 remainder 1

Children should be anauraged to use
their times table facts; they could also
re,oresent repeated addition on a number
line.

3 groups of b, with 1 left over

o
Y3

Sharing using place, value counters.

L2+ 3 =1l

0000 00
10s 1s 10s 1s
332823
0000 |=14
0000
000 0

Y3

Children to represent the place value
counters Ioictorally.

BBOE__»oosee &o
: 10" > 15

0000
SO OO0
" - |[o]eXele.

Children to be able to make sense of the
Iolace value counters and write
calculations to show the process.

42 + 3
L2 = 30 +12

30+3=10
12+3=4
10+4 =14
Y3,
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Short division using Iolace value counters to

gFUUP.

615+ 5
100s| 10s | 1s
- E
©0 30000\
© 0 1Do0OO

1. Make 615 with Iolace value counters

N

you make with 6 hundred counters?
3. Exchange I hundred for 10 tens.
L. How many groups of 5 tens can you
make with 1 ten counters?
5. Exchange I ten for 10 ones.

(G)N

make with 15 ones?

M, Y5

How many groups of 5 hundreds can

. How many groups of 5 ones can you

Reloresent the Iolaco, value counters

pictorally. |
|100s

OO
of

Use of dienes to demonstrate short
division.

Y6

Children to use the short division scaffo
to complete the calculation.

12
51615

>’5 Y6
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Long division using place value counters

2544 =12
1000s | 100s 10s 1s
©0 gooo We can't group 2 thousands into

groups of 12 so will exchange them.

with 1 hundred. %

e oot 24 hundred 'ILL
e can group undreds -
% into groups of 12 which leaves 1212544

After exchanging the hundred, we 12| 2544
have 14 tens. We can group 12 tens 24
into a group of 12, which leaves 2 tens. %g—
2
1s 0212
Q00O | After exchanging the 2 tens, we 12 |2544
; &'&: have 24 ones. We can group 24 ones 24
20 into 2 group of 12, which leaves no remainder. 14
% i
olele 24
24
0

Y6

Ccmce,ptual variation; different ways to ask children to solve 615 = 5

| have £615 and share it eq,ually between 5 bank accounts.
How much will be in each account? 5 ' 615

615 Iou.,oils need to be put into 5 groups. How many will be
in each group?

Y5, Y6

615 + 5 =

O =6l5+5
Y5, Y6
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